
Square Row Reduction Results

[
1 0
0 1

]
,

[
1 ∗

0 0

]
,

[
0 1
0 0

]
,

[
0 0
0 0

]

The first is the only matrix such that:

1. A is invertible
So A invertible row reduces to I

2. Ax = b has a solution for all b
3. Ax = b has a unique solution for some b
4. Ax = 0 has a unique solution

This is independent of size of square matrix
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Recall

y ′′ + p(x)y ′ + q(x)y = r(x)

Examples

1. y ′′ + y ′ − 2y = sin(x)

2. x2y ′′ + xy ′ − y = x2 + x3

3. y ′′ + x−2y ′ − x−3y = x−3



Examples

y ′′ + x−2y ′ − x−3y = x−3








